Name: Date: Unit 7 Class Work

Properties of Logarithms Class Work
% Objective: You will be able to simplify and expand logarithims.

+* When the bases of logarithms are identical, the following properties hold...

o% o (M)
T | g (BX)+ l%(.u\ l0gs ‘6")

X m)
cample (oga(aoxs ~loga(h)= gaﬁx\

‘(Rla b(M) )
) mm‘kg‘,( élag (xxx\ ‘%g& g

+ Can you create a rule for the following logarithms, for any give
k]

*Iog,‘)(:,\' * logyl =~
2 b

X =X g=l




\\'%\l once

# Practice: Write an equivalent expression to condense each logarithm.
ﬁ

1. logs2x + logz(x —4) 2. log217 — logia(2x + 5)
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What if you had...
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# Practice: Write an equivalent expression to expand each logarithm.
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Exit Slip: Write an equivalent expression to condense each logarithm.
1. logz2x + logzx — log28
2. 4log3x —1log9
Write an equivalent expression to expand each logarithm.
3. logs(3*(2x + 1)?)

4. In(4x*y?)

Homework: pages 449-451

~ Condensing: #11-18, 33, 37, 38,41, 58, 60, 69, 73, 74,77, 92, 93, and the extra
problem below...

Extra Problem (Required): Condense log(9h) — 3(2log(f) + log(3h))

# Expanding: #19-29 odds only, 43,71, 79, 81, and the extra problem below...
Extra Problem (Required): Expand log (;,3 \/41]
z

@ Throwback: p. 444 #100, 103, 104, and 105
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